MIAM I-DADE’ MIAMI-DADE COUNTY, FLORIDA
I METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305)375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Collier a Division of System Design & Mfg. Inc.
48 Dalkeith Drive
Brantford, Ontario Canada N3P1N6

ScoPE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Steel Overhead Sectional Garage Door 16° Wide.

APPROVAL DOCUMENT: Drawing No. D-CFL3WLP-168-SES, titled “Collier/Fortress Level 3 Wind Load
Hardware Package”, sheets 1 through 2, prepared, signed and sealed by F. A. Fore, P.E., dated 5/01/02, bearing the
Miami-Dade County Product Control Renewal stamp with the Notice of Acceptance number and expiration date

by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved"”, unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply

with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 00-1218.01 and, consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Candido F. Font, PE.

NOA No 02-0207.01

Expiration Date: August 30, 2006
Approval Date: June 6, 2002
Page 1




! ONE .20 GAGE (T=0.033N.) INTERMEDIATE STILE BETWEEN EACH 1/8" AIRCRAFT CABLE LOOPED & CRIMPED AT BOTH ENDS

EMBOSS LOCATION. ATTACHED WITH TWO RIVETS ATTACHED TO ALUMINUM CHANNEL USING 1/4* - 10 X 1"
1o COLLIER 12 GAGE (T=0.098-IN.) FORTRESS 12 GAGE ADJUSTABLE WALL MOUNT BRACKET
ORTOGGLE LOCKS AT EACH END & GLUED TO DOOR SKIN E E NUT & BOLT & JAMB USING 516X 1 5" LAG SCREW GALV. STEEL EMBOSSED FASTENED TO WALL WITH THREE 5/16" X 1-1/2" SLEEVE ANCHORS (RAWL)
MAX_ 56" MAX_ 507 MAX. 5-6° Ammomers 8 ADJUSTABLE TOP ROLLER BRACKET ORFOURS/16" X 158" WALL LAGS
[«— : i : e . f FASTENED WITH SIX IR . FORTRESS 12 GAGE ADJUSTABLE HEADER BRACKET (AH.B.)
TOP STRUT 7 * = 1/4" X 3/4" SELF TAPPING SCREWS N ASSEMBLED USING FOUR 1/4" X 10 X 1/2" NUTS AND BOLTS
) FORTRESS 12 GAGE ADJUSTABLE LATCH RECEIVER
s 5 0] MOUNTED & 4" MAX FROM FLOOR TO ALLOW FOR DOOR LIFTING
CENTER STRUT 7 3 ATTACHED TO AH.B. WITH FOUR 1/4 X 10 X 1/2 NUTSAND BOLTS
. L J, P U, [ . U, U J Z—\ , |/ U N\ WOODFRAME,CONCRETEOR/ >
et m m, m Y . m m : ) CONCRETE FILLED BLOCK | - FORTRESS 34" X 34" STEEL SQ. NOTCHED LATCH
HINGE STRUT [ = == = = =2 Ky - ¥ : - L |le ®|| WELDEDTOAZ X5"X 1" STEEL PLATE WITH FOUR % X 1" WELDS
—1 ' (] i ' FASTENED TO EACH END OF THE ALUMINUM
— " ] T : . 9- 144" X 34" CHANNEL WITH FOUR 1/4X 10 X /4" NUTS & BOLTS
INSTRUCTION > gy ; SELF TAPPING SCREWS
& STICKER | | i i , ' : i i INTO A COLLIER WIDE BODY EMBOSSED —\— SECTIONB-B
® m -~ By o, 7] oy " » 14 GAGE (T=0.071N.) END HINGE & CENTER HINGE FORIRESS ALUMINUM
= : < e ¢ = o o o =
5 4. SCREWS ON TOP SECTION OF HINGE —/\,—— g
g HINGESTRUT = : ” / 5 SCREWS ON BOTTOM SECTION OF HINGE — (}CHA;-I‘BISI;( NSE);(21054 9(3.061 T6)
N : NOTE: e 0.258 MIN. WALL
g . : 2178 X DOOR WIDTH - 19 GAGE (T=0.044-IN) cl e THICKNESS
. : , . . ; : . ' . STRUT TO BE FASTENED ON TOP OF BOTTOM HALF OF &
o ™ - - ” o ™~ m v b : HINGES AS SHOWN AT CENTER STILE & EACH END STILE WITH iy o) g
2 s % \,, % i T ¥ T o] 2- 114" X 3/4" SELF TAPPING SCREWS %
HINGE STRUT | = = : = ——] 4
N ' v
o @ ' = B B PLASTIC INNER
: : ) ) STRUT SHIM
- ] ¥ [} H ] L) ' - » 4
m, m, m 4 m m m, ' ! [ 1 D N
= i S Yy ¥ i T o sauexye 0NN Cr/V/
HINGE STRUT ' : = SELF TAPPING SCREWS
I [l [ 1NN [l 1 1 [I J"\ — INTO A COLLIER WIDE BODY EMBOSSED
CENTER STRUT = 18GAGE (T-0.048IN) INTERMEDWTEHINGE |t I || | —derrzzzzzadstead
' ‘ st
: U—U U U U ]\] I\I U l\| U I\l: ‘ : NOTE. PIN RECIEVER SLOT
3 = — === : _E 2-1/4" X DOOR WIDTH - 19 GAGE (T=0.044-IN.) iy )
= ] — — = STRUT TO BE FASTENED ON TOP OF BOTTOM HALF OF FORTRESS 2-1/2" X 3" 12 GAGE (T=0.098-IN.)
LOCATION OF OPTIONAL VENTS. D — HINGES AS SHOWN AT INTERMEDIATE STILES WITH I GALV, STEEL PIN RECEIVER
AREA OF VENTS NOT TO EXCEED N OPTIONAL OUTSIDE KEYED N A weeene ' 2-1/4" X 34" SELF TAPPING SCREWS FASTENED TO COLLIER 2 1/4" X DOOR WIDTH
60 SQ INCHES BETWEEN STILES N LOCK POSITION N 19 GAGE (T=0.044-IN.) GALY, STEEL
MAX. WIDTH 16'-0" HEMMED STRUT WITH TWO
TYPICAL 24 GAGE STEEL WITH MIN GALY COAT G0 ° COLLER 12 GAGE (10098 ) 144 X 10 X 1° NUTS & BOLTS
NOTE: MIN 0.024 AS PERASTM E-8 (YEILD KSI 32.5) =0.098N.
3000 PS) CONCRETE OR GROUT FILLED CONCRETE BLOCK
o 0 WOOD GRAIN TEXTURE EXTERIOR SKIN ALY STEEL BOTIOM BRACKET
12 X 3 X 2 1/2 ASSEMBLED HEADER BRACKET
b @ <SELF TAPPING SCREWS FORTRESS 31/2 X 1" X 14"
COLLIER 18" X 7 - 12 GAGE (T=0.098-IN.) GALY, STEEL — MALE PIN FASTENED TO
- FLAG BRACKET LOCATED AT EACH VERTICAL TRACK / ® COLLER 2710 o) ALUMINUM CHANNEL WITH
=== FASTENED WITH THREE 516" X 1 5/8" LAG SCREWS TO ROUGH OPENING _ 2* LONG STEM 10 BALL ROLLER I TWO 1/4" - 10 X 3/4" NUTS & BOLTS
TWO 1/4° X 516" RIVETS TO %4* VERTICAL TRACK g ve/ — — L ONE PIN PER DOOR SECTION ON STRUT
TWO ¥ X %" BOLT & NUT TO HORIZONTAL TRACK H 7
® : ® o
HORIZONTAL TRACK SUPPORT BY DOOR INSTALLER (TO SUIT) H 34 MINMUM ENGAGEMENT
DCOR . . TRACK o WA
LOCK POSITION (BOTH ENDS) HEIGHT 217 SEC 19°SEC WSEC | BRACKETS
TWO POINT LOCKING CONFORMS TO SFBC S0 - - 2 5
3603.2 REGARDING GARAGE DOORS WITH 5/8° MIN. — > >
COLLIER 060" GALV. STEEL Z' TRACK ENGAGEMENT. DOOR TESTED FOR FORCED ENTRY WITH BOTH 66 : 5
4 OUTSIDE KEYED LOCK & INSIDE SLIDE BOLT LOCK OPTIONS. 7o 4 - - 5
COLLIER 21/2" X 12 GAGE (T=0.098-IN) GALY. FASTNER TO BE MIN. 3* FROM 75 - - P 5 TYPICAL TONGUE & GROOVE
T *s|  STEELTRACK BRACKETS LOCATEDAT OPENING EDGE P > 3 ; OR SHIP LAP MEETING RAIL ——
EACH END ROLLER HINGE LOCATION -
.20 GAGE MIN. GALV, STEELEND STILE T
- AND TWO BRACKETS ON BOTTOMAS SHOWN \\ x 840 - 5 - 6 T
SIXON & HIGH DOOR TRACK (SHOWN) \\ 20 GAGE MIN GALY. STEEL INTER STILES INTO FLOOR PLATE
FIVE ON 7 HIGH DOOR TRACK (NOT SHOWN) \ 2454 FROM ENDS AND 2¢° 0. C. MAX - Py Seson Lot | Desgn oo
WOOD FRAME, CONCRETE OR ‘ { GLUED TO FACE OF DOOR SKIN) (+) (-)
18 CONCRETE FILLED BLOCK ] J # MING'-1"X§6'- 0" 2 50 2 o ®|| FORTRESS 4" X4 X 12 GAGE GALV. STEEL
FLOOR PLATE. FASTENED TO CONCRETE
2 X6 PT.- SYP. WOOD JAMB — = MAX 16-0" X 8- 0" 2 0 2 WITH FOUR 3/16" X 1-34° TAPCONS
T (SEE JAMB PRER. NOTES ON PAGE 2 ] *Alf posts must be engaged to achieve design wind load ALUMINUM EXTRUSION & ggﬁ;&%ﬂi:ﬁgi:&i CJ’:; ?r?é;?.iéN
! COLLIER 2%"12 GAGE (T=0.098-IN.) VINYL WEATHER STRIP SO THAT NOTCH ALIGNS WITH FLOOR PLATE
18 Bf— LOCK BAR RECEIVING HOLE GALV, STEELTRACK BRACKETS )
FASTENED TO WOOD JAMB WITH S/5/02_
1 . 516" X 1-5/8 LAG SCREWS AND TO ~——— 3000 PSI CONCRETE
TRACK WITH ONE 1/4" X 3/4° TRACK BOLT & NUT .
DESIGN LOAD $50 -52 PSE SECTION A - A (SIDE VIEW)
COLLIER 060" GALV. STEEL PRODUCT REVISED - -
1 2 TRACK FASTENED TO EACH TRACK BRACKET as complying with the Florids Collier/Fortress Level 3 Wind
WITH ONE 1/4" X 3/4" TRACK BOLT & FLANGE NUT . Buiding Cosde Load Hardware Package Drawing Number
& A ! 07.0/ D CFL3anl’_P 168-SES
-+ 4. i ceepiance 4o QZ = - , - -168-
7 M ﬂ /['gle £ / - Expia?a Y % 48 Dalkeith Drive 4200 Westroads Drive
T . COLLIER 2-4-10- 10 BALL ROLLER ~~J . A DIVISION OF SYSTEM DESIGN & MFG. INC. Brantford, Ontario N3P 1N6 West Palm Beach, FL 33407 5/1/02
V244 ONE PER HINGE AND TOP ROLLER CARRIER 0;/2 561 £ PEong: f; 97;;553‘3?20 P:on'esz 6516:3 t;ezgs:o
Miami Dade Product Control ax: 519-759- ax: 561-381-
NOTE: Division Collier / Fortress All Rights Reserved. Sheet No. 1 of 2
DOORS UP TO 7-0" HIGH CONSIST OF (4) SECTIONS (NOT SHOWN) The amangement depicted herein are the sole property t?)fo
DOORS OVER 70" HIGH CONSIST OF (5) SECTIONS (SHOWN) RO B e e )




2X6 JAMB TO SUPPORTING STRUCTURE ATTACHMENT
A) APPROXIMATELY SEVENTY FIVE PERCENT OF THE WIND LOAD ( -4992 L BS) FROM THE DOOR IS TRANSFERRED TO
THE FORTRESS ALUMINUM C-CHANNEL(S).
B) ONE-HALF OF THE COMBINED FORTRESS ALUMINUM C-CHANNEL(S) LOAD IS TRANSFERRED TO THE HEADER BRACKET(S) AND THEN
FROM THE HEADER BRACKET(S) TO THE FASTENERS (SEE PAGE 1 OF THIS DRAWING)
C) THE REMAINING ONE-HALF OF THE FORTRESS ALUMINUM C-CHANNEL(S) LOAD IS TRANSFERRED TO THE FLOOR
THROUGH THE FLOOR PLATE(S) AND THEN INTO THE FASTENER(S).
D) THE REMAINING TWENTY-FIVE PERCENT OF THE WIND LOAD ( -1664 LBS) FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK AND
FLAG BRACKETS AND THEN FROM THE TRACK TO THE 2X6 PRESSURE TREATED VERTICAL JAMBS (GRADE #2 OR BETTER YELLOW PINE).
E) THE FORTRESS HEADER BRACKET(S) SEES A MAXIMUM DESIGN LOAD OF +1200LB AND -1284 LB
(-624 LB. PER SLEEVE ANCHOR OR -312 LB. PER WALL LAGS)
F) EACH FLOOR PLATE(S) SEES A MAXIMUM DESIGN LOAD OF +1200 LB. AND -2184 LB
(-312LB. PER TAPCON)
G) EACH VERTICAL JAMB/TRACK SEES A MAXIMUM DESIGN LOAD OF +800 LB. AND -832 LB
(-166.4 LB PER WALL LAG)
H) ALL JAMB FASTENERS MAY BE (BUT NOT REQUIRED) COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.

WOOD FRAME BUILDINGS

A) STUD WALLS OF DOOR OPENING SHALL BE FRAMED SOLID BY NOT LESS THAN (3) 2x6 PRESSURE TREATED GRADE #2 OR
BETTER WOOD STUD OF A STRESS GRADE NOT LESS THAN 1200 PSI NOMINAL EXTREME FIBER STRESS BENDING (Fb).

B) STUD WALLS TO BE CONTINUOUS FROM FOQOTING TO TIE BEAMS AND IN ACCORDANCE WITH FBC SECTION 2308..

BLOCK WALL OR CONCRETE
A) 2x6 WOOD JAMB SHALL BE ANCHORED TO GROUT REINFORCED BLOCK WALL OR CONCRETE COLUMN.
B) BLOCK WALL CELLS SHALL BE FILLED WITH CONCRETE AND REINFORCED WITH #5 BAR EXTENDING INTO FOOTING AND INTO TIE BEAMS.
C) ALL BARS SHALL BE CONTINUOUS FROM THE TIE BEAMS TO FOOTING PER BLOCK WALL OR CONCRETE COLUMN.
D) BLOCK WALLS AND CONCRETE COLUMNS TO BE DESIGNED BY BUILDING PROFESSIONAL OF RECORD AND IN ACCORDANCE
WITH FBC SECTION 2i21.2.

MAXIMUM ON
CENTER STEEL
DISTANCE WASHERS
BETWEEN REQUIRED
BUILDING TYPE FASTENER TYPE FASTENERS
WOOD FRAME (SYP) %" x 3" EMBED LAG SCREW (ASTMA307, GRADE A) 16" YES
BLOCK WALL OR CONCRETE | %" x 1-%" MIN. EMBED {TW TAPCON CONCRETE ANCHOR 10" YES
BLOCK WALL OR CONCRETE | 3/8"x 1-%" MIN. EMBED RAWL-STUD EXPANSION ANCHOR (7400 SERIES) 19" NO
BLOCK WALL OR CONCRETE | 3/8" x 1-%" MIN. EMBED RAWL LOK/BOLT ANCHOR BOLT (5000 SERIES) 16" NO

*MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 3", EXCLUDING STUCCO THICKNESS.
COLLIER/FORTRESS DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS.
WHEN USING RAWL-STUD; THE CONCRETE BLOCK MUST BE GROUT FILLED WITH 2000 PSI GROUT

JAMB PREPARATION NOTE

A) EACH TRACK AND FLAG BRACKET SHALL BE FASTENED TO PRESSURE TREATED 2x6 YELLOW PINE WOOD JAMBS
WITH 5/16"x1-5/8" LAG SCREWS (9) LAG SCREWS PER SIDE UP TO 7'0" HIGH AND (10) LAG SCREWS PER SIDE UP TO 80" HIGH.

B) THE METHOD OF ATTACHMENT TO THE SUPPORTING STRUCTURE OF THE PRESSURE TREATED 2x6 WOOD JAMBS SHALL BE
APPROVED BY THE PROFESSIONAL OF RECORD FOR THE STRUCTURE AND IN ACCORDANCE WITH CURRENT BUILDING
CODES FOR THE LOADS LISTED ON THIS DRAWING.

C) PREPARATION OF JAMBS BY OTHERS.

D) ALL MOUNTING OF TRACK, ANGLES, HORIZONTAL TRACK SUPPORTS, AND ALL OTHER DOOR HARDWARE TO BE INSTALLED

PER COLLIER/FORTRESS INSTALLATION INSTRUCTIONS SUPPLIED WITH DOOR SYSTEM UNLESS OTHERWISE NOTED.

FORTRESS ALUMINUM C-CHANNEL(S) STORAGE
A) ALUMINUM FORTRESS ALUMINUM C-CHANNEL(S) SHALL BE STORED IN A CONSPICUOUS PLACE WITH EASY AND IMMEDIATE
ACCESS SO THEY CAN BE REACHED AND INSTALLED ANY TIME HURRICANE WINDS ARE PRESENT.

«——2X6 CENTER PAD

HORIZONTAL JAMB ____/

(NO LOAD FROM DOOR)
— FASTENER TYPE
(SEE CHART) MAXIMUM ON CENTER
DISTANCE BETWEEN FASTENERS —o

(SEE CHART)

B) THE DOOR WITHOUT THE FORTRESS ALUMINUM C-CHANNEL(S) DOES NOT PROVIDE
PROTECTION AGAINST HURRICANE WINDS.
C) THE FORTRESS ALUMINUM C-CHANNEL(S) SHALL BE INSTALLED TO ACHIEVE DESIGN WIND LOADS. r~

GENERAL NOTES
A) MINIMUM EMBEDMENT OF CONCRETE ANCHORS - 1%

5/ 5 /0.2__

B) MINIMUM EMBEDMENT OF LAG SCREWS INTO WOOD - 174" _ /ﬂ
/‘744//(/2. /4 /L;'éﬁ/ éﬂ'

THIS APPROVAL REQUIRES THE MANUFACTURER TO DO TESTING OF ALL COILS USED TO FABRICATE DOOR
PANELS UNDER THIS NOTICE OF ACCEPTANCE. A MINIMUM OF 2 SPECIMENS SHALL BE CUT FROM EACH COIL AND 04/9’? S‘é /
TENSILE TESTED ACCORDING TO ASTM E-8 BY A DADE COUNTY APPROVED LABORATORY SELECTED AND PAID BY
THE MANUFACTURER. EVERY 3 MONTHS 4 TIMES A YEAR THE MANUFACTURER SHALL MAIL TO THIS OFFICE A
COPY OF THE TEST REPORTS WITH CONFIRMATION THAT THE SPECIMENS WERE SELECTED FROM COILS AT THE
MANUFACTURER'S PRODUCTION FACILITIES. AND A NOTARIZED STATEMENT FROM THE MANUFACTURER THAT
ONLY COIL WITH YIELD STRENGTH OF 32500 PSI OR MORE SHALL BE USED TO MAKE DOOR PANELS FOR DADE
COUNTY UNDER THIS NOTICE OF ACCEPTANCE.

DESIGN LOAD +50 -52 PSF

FORTRESS POST
ENGAGEMENT DETAIL

s

Coliier / Fortress All Rights Reserved.
The arrangement depicted herein are the sole property of
Coliier/Fortress and may not be reproduced in any form without
written permission.

;'ﬁ?ggg{,gﬁ?{;ﬁﬂ’mm Collier/Fortress Level 3 Wind
Buiding Coce o L L ’ E R Load Hardware Package Drawing Number
Acceptance No 2-0207.01 48 Dalkeith Drive 4200 Westroads Drive | D-CFLSWLP-168-SES
Expiration o8 A DIVISION OF SYSTEM DESIGN & MFG. INC. Brantford, Ontario N3P IN6  West Palm Beach, FL 33407 51102
R Phone: 519-759-8090 Phone: 561-863-0650
Fax: 519-759-4912 Fax: 561-881-5635

Sheet No. 2 of 2




